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HEN
0000 p:R2DU > (u,v) = plu,v) eR3OO000OO000OO
o000
» 000000000 v:U —R3, |v|=10
> 000000FE =py pu, F=pu-pv, G=py-po.
» DO0O000
L:_pu'VuvM:_pu'l/v:_pv'l/uvN:_pv'Vv-
» Weingarten 0 0 AO

g5 ~ (E F N L M
| ._ ._
A:=T"111, 1._<F G), II._(M N).

> Gauss(O0O K =detd, 0000 H=1trA
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0000 p: U —-R30O0D0000O0O0O0O0O

0o

0 (w,v)eU 00000000000 dp(Ty,hR?) 00000
000000 v(u,v) 0 p000O0000000v 0O (u,v) 00
0000000000000000000000000

> UO0bOOo0boobbooboobbooboooon

> dp(Tw,»yR?) O pu(u,v) O py(u,0) 00000000000
00000000000000000 pu(u,v) X py(u,v) O
0oooooooooo

) = pu(u,v) X py(u,v)
) = () X pola )]

gboboboobobooooon
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0000 p: U —-R30O0D0000O0O0O0O0O

00 (00D0Oo0)
30000 F=py pus F=py 0o, G=py-pp, D pOO0O00
goooo

gd
0000 p000O0O00 E F,GO EG-F?>000000

go.

00000 SchwarzOO OO |pullpe| 2 |pu-pol OO0 O0OOO0O
gdd 0J
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Doooooo

~)
i

( 6)

» 0000
» J000000000
> |pu X po|? = det T = EG — F20

2020/12/03(2020/12/10 00) 5/ 17



goobobo
0000 p:U—-R*0000000000 »000000
00

Pu Vy= —Puu "V, Pu Vo= —Puv V=DPv" Vuy, Pv Vo = —Pyo " V.

OO0 (00000, 000000)

L:=—py vy =puu -V, M = =Dy Vy = Dyv " V =Dy - Vy,
N := —PvVy = Pyy "V,

= L M
=4 %)
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Weingarten O [J

0000 p: U —-R30O00000000O0 vO0000OO
00 (Weingarten 00O, Gauss 0O, 0000)

=17 1 G -F\(L M
— 717 =
A= ‘U“EG—F?(—F 12)<A14N>

LN — M?
K :=detA= m (GaUSSD D)
1 EN —2FM + GL
Hi=gwd="Cre (0ooo)
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> {¢,b})0R? 000000000000
» PeR3
> p(u,v) :=(ﬁ+ua+vb.
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goooon

> f:RZDOW 3 (z,y) = f(z,y) € R (C>-0)
> p(l’,y) = (wayaf(xay))
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goooon

> (2(v),2(v))02:-000000000 z>00
> p(u,v) = (z(v) cosu, z(v) sinu, z(v)) O
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> p(u,v) = R(cosvcos U, COS ¥ 8in u, sin v)[l
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00

0000 «0D000 00000

p(u,v) := (asechvcosu,asechvsinu, a(v — tanhv) + bu) O

ooo

.00 p:RZ-R*0000000000000000O0O0O0
00000 (cRHOOOODOOO

2. 00 pOD0D000000O0DODO regular point 00000
000000000000 Dooo0Oon
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00

00 F:R® RO F(r,y,2):=2*+¢y*+24-10000000
F-l({0})) 000000DD0ODD0O000000DDO0O00 (a,b,c)
0000000000000 000000ooo
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